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TABLE 4.1 Particular solutions via undetermined coeffi-
cients for the constant-coefficient, first-order linear equation
by + byy = f(x).

bl}". +byy = f(x) |

Forcing Term f(x) | - Trial Partimilar Solution j?,, (x)
Ay X" 4+ ayx 4 ag Apx™ A 4+ Ayx 4 Ag

ae?” Ae?

@ Co$ px + b sin px Acos px + B sin px

If the assumed form of the particular solution solves the corresponding
homogeneous equation, multiply the assumed form by x.

Lowercase letiers @, a;, b are constants given in the forcing function. The
cocfficients to be determined are denoted by uppercase letters A, A;, B.
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